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The word "Equity" derived from the Latin
term :

(A
(B
C
D) Equitable

) Feoffor
) Cestui que
)

Acquitas

The primary source of "Principle of Equity"
is :

A Codified law

o

Custom

D

)
)
) Judicial precedents
) Conscience
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@)

In English sense, equity means :

(A) Rules formulated and Administered
by Court of Chancery

(B) Rules formulated and Administered
by Court of Common Law

©) Both (A) and (B)

D) None of the above

Which of the following is an equitable remedy ?

(A) An order to account

(B) Damages

C)

(

D) None of the above

Tracing

The Law of Equity was developed in and
administered by :

A Court of Chancery

O

Court of Common Pleas

_—~ o~ o~

)
) Court of King's Bench
)
)

D King's Council
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6. Complete the maxim, "Equity is______ "
(A) Justice
(B) Fairness
©) Equality
D) Precedent
7. Equity Court could be approached :
(A) As a matter of right
(B) As a matter of grace
©) Both (A) and (B)
D) None of the above
8. In case of conflict between equity in one
hand and text of law on the other hand, the
Court shall :
(A) Choose Equity
(B) Choose Law
(@) Have discretion to choose b/w
Equity and Law
D) Be bound by Precedents
9. Relief from Equity Court can be obtained :
(A) Before adjudicate in Common Law
Courts
(B) After decision by Common Law
Courts
©) Both (A) and (B)
D) None of the above
10. Which of the following statement is incorrect ?
(A) Law and Equity is administered by
Court of Chancery
(B) In India, there is distinction between
Law and Equity
©) Equity supplements legal principle
D) Equitable principles are based on
conscience
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1.

12.

13.

14.

15.

Equity will look at : 1.

(A) Substance

(B) Words used

) Procedure to achieve the end result
(D) All of the above

The Court of Equity operates primarily : 12.

(A) in rem

(B) in personam

(©) Both (A) and (B)
D) Partially (A) and (B)

Who is known as "Father of Modern  13.

Equity" ?

A) Lord Shaftesbury
B) Lord Nottingham
C) Lord Eldon

(
(
(
D) Lord Hardwicke

"Equity is to follow the law and not  14.

act contrary" to it is denoted by which
maxim ?

(A) Equity will not suffer a wrong to be
without a remedy

(B) One who seeks must do equity

€ He who comes to equity must
come with clean hands

D) Equity follows the law

Where equities are equal ? 15.

A) First in time shall prevail

o

Both will prevail

O

(
(8)
€ Neither will prevail
(D)

D Depends wupon facts and

circumstances
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16. The Indian Trust Act came into force on :
(A) 1860
(B) 1872
©) 1882
D) 1892
17. The Indian TrustAct is not applicable to public
trust, the statement is :
(A) True
(B) False
©) Partially correct
D) None of the above
18. Every trust whose purpose is unlawful
is :
(A)  Void
(B) Voidable
(@) Valid but not enforceable
D) None of the above
19. "Trust and Trustees" is the subject matter
of :
(A) Union list
(B) State list
©) Concurrent list
D) None of the above
20. Who defines equity as "The soul and spirit
of all laws" ?
(A) Blackstone
(B) Snell
(@) Plato
D) Aristotle
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25.

Which of the following sections of Indian
Trust Act deals with creation of trust ?

(A) Section 6
(B) Section 7
©) Section 8
D) Section 9

"Subject matter of a trust" means :
(A) Trust property

(B) Beneficial interest

©) Both (A) and (B)

D) Neither (A) nor (B)

Can a beneficiary renounce his interest
under a trust ?

(A) Yes

(B) No

(C) Depends
(

D) None of the above

Which of the following sections of Indian
Trust Act describes the persons competent
to become trustee ?

(A) Section 10
(B) Section 11
€ Section 12
(

D) Section 13

Which chapter of Indian Trust Act, 1882 deals
with rights and powers of Trustees ?

(A) Chapter IV
(B) Chapter V
©) Chapter VI
D) Chapter VII

1024-A/560 (7)

21.

22.

23.

24.

25.

= & - aw =e & i @
I FAT B ?

A)  ERT6

B) 4X7

C 48

D) &9

‘el vy’ @ oo
(A) = R

B)  wWERl fBd

€ 3 (AT (B)

D) @ (A) T & (B)
I H 7 T AN 1A fod 1 AmT
HX THAT & 7

A) &

B

C) A W R BT
D) ST F | B el

IRAE = ARSI @ eF-d 4]
I B ARG F AN Hl
g7

(A) 10
(B) & 11
(C) o 12
D) & 13

AR =g AT, 1882 &1 HiN-41
AR TE) & ER IR iR
I FA B ?

A) T IV
(B) oA V
)  SrEmE VI
(D) <= VI

[P.T.0.]



26. By operation of law trust can be classified
as:
(A) Resulting
(B) Constructive
(C) Executory
D) Both (A) and (B)
27. By Act of Parties, trust can be classified in
to:
(A) Express
(B) Implied
©) Resulting
(D)  Both (A) and (B)
28. The concept of "Trust" originated in :
(A) France
(B) Germany
€ England
D) Rome
29. The person not necessary for creation of
trust is :
(A) The author of trust
(B) Trustee
©) Legal representative
D) Beneficiary
30. Under which section of Indian Trust Act, 1882
the definition of "Breach of Trust" is provided ?
(A) Section 1 (d)
(B) Section 2
€ Section 3
D) Section 5
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31. Who among the following can create trust ?
(A) Infant
B) Lunatic
(9] Convict (Moral Turpitude)
(D)  Alien
32. Indian Trust Act has close resemblance
to:
(A) Roman law
(B) Human law
() English law
D) French law
33. "Cestui Que Trust" means :
(A) Trustee of Trust
(B) Settlor of Trust
(9] Beneficiary of Trust
D) None of the above
34. Duty of trustee towards the beneficiary of
trust is :
(A) Duty of care
(B) Qualified duty
(C) Fiduciary duty
D) Unqualified duty
35. Which section of Indian Trust Act, 1882
provides that Trust Money can be invested
by the Trustee ?
(A) Section 17
(B) Section 19
€ Section 20
D) Section 21
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36. Who among the following person cannot
become a beneficiary in trust ?
(A) Government
(B) Unborn child
€ Corporation
D) Alien
37.  An agreement which delegates a trustee's
power and duties to another trustee is :
(A)  Valid
(B)  Void
©) Voidable
D) None of the above
38. The liability of a trustee for a breach of trust
depends on :
(A) The act of omission
(B) Benefits received by him
©) Both (A) and (B)
D) Neither (A) nor (B)
39. Breach of Trustis a:
(A) Civil wrong
(B) Criminal offence
(C)  Both (A) and (B)
D) Neither (A) nor (B)
40. The maxim "He who comes to the equity
must come with clean hands", denotes :
(A) Future conduct of claimant
(B) Past conduct of claimant
©) Future conduct of defendant
D) Past conduct of defendant
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41. "If you can not find any other, equality is the
proper basis", this statement was given by :
(A) Socrates (B) Plato
©) Montesquieu (D) Aristotle
42. "Ubi Jus Ibi Remedium” is a principle based
on which of the following equity maxim ?
(A) Equity follows the law
(B) Equity will not suffer a wrong to be
without a remedy
(©) One who seeks must do equity
D) He who comes to equity must
come with clean hands
43. Section 62 of Indian Contract Act is based
on which maxim ?
(A) One who seeks must do equity
(B) Equity acts in personam
() Equity will not suffer a wrong to be
without a remedy
D) He who comes to equity must
come with a clean hand
44. In which of the following cases did the
Supreme Court hold that provisions of Indian
Trust Act are applicable only to the private
trust and not public trusts ?
(A) Rama Subbier vs. Manicka
Narasimhachari
(B) Chiranjeet Lal vs. Haridas
(9] Thayarammal (dead) by L.R. vs.
Kanakammal and Others
D) None of the above
45. Who said, "A trust is very center and kernel
of equity" ?
(A) Hanbury
(B) Lord Bacon
(@) C.K. Allen
D) Lord Denning
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46. The Roman Law "Fidei Commissaries" means :
(A) Trustee
(B) Beneficiary
€ Owner
D) None of the above
47. The meaning of "Aequitas Sequitur Legem"
is
(A) Equity follows the law
(B) Equity is equality
(@) Equity acts on conscience
D) Equity assists law
48. Case laws which is/are related to the maxim
"Equity acts in personam" ?
(A) Penn vs. Lord Baltimore
(B) Eving vs. Orr Ewing
(C) Chellaram vs. Chellaram
D) All of the above
49. Which of the following remedies were the
creation of law of equity ?
(A) Specific performance
(B) Injunctions
(@) Recessions
D) All of the above
50. Doctrine of Election and Mortgage is based
on maxim :
(A) Equity will not suffer a wrong to be
without a remedy
(B) One who seeks must do equity
(@) He who come to equity must come
with clean hand
D) Equity follows the law
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51. Maxim "Equity looks at intent rather than the
form" is applied in the case of :

(A) Ubi Jus Ibi Remedium

(B) Construction of Instrument

(©) Delay defeats equity

D) He who come to equity must come
with clean hand

52. A remedial constructive trust will be
awarded :

(A) When the parties had a common
intention to share a common home
even if both were not on the legal title

(B) Never, it is not recognised

(C) When the defendant has acted
unconscionably and a redistribution
of property right is the only way to
achieve fair and just result

D) When a party has made a contribution
to the purchase price of property in
question

53. Which of the following maxims forms the
primary foundation of equity ?

(A) Equity will not suffer injustice

(B) Equity is equality

(C) Equity acts in personam

(D) Both (A) and (C)

o4, While the common law principle was
compensation, the equitable principle was :

(A) Restitution

(B) Transposition

©) Damages

D) Contributory compensation

95. Which of the following relations is that of a
debtor and creditor ?

(A) Trust and Trustee

(B) Trustee and Beneficiary

©) Both (A) and (B)

D) Neither (A) nor (B)
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96. In the strict legal sense, a dedication by a
Hindu for religious or charitable purpose is a :
(A) Gift
(B) Trust
©) Both (A) and (B)
D) Neither (A) nor (B)

57. Which of the following cases is related to
the idea of double ownership in a trust ?
(A) Ramaswamy vs. Kamalammal
(B) Tagore vs. Tagore
(@) Ellison vs. Ellison
D) None of the above

58. Is registration a sine qua non for the validity
of trust ?
(A) Yes
(B) No, if it is created by the will of the

author of the trust or by will of trustee

(@) Depends
D) None of the above

59. Which of the following remedies were the
creations of law of equity ?
(A) Specific performance
(B) Injunctions
(@) Recession
D) All of the above

60. A, atrustee, is authorized to sell certain land
by public auction, can he sell the land by
private contract ?
(A) Yes
(B) No
(@) If it is beneficial to author
D) None of the above
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61. Equitable maxims are :
(A) Binding in nature
(B) Provides guidelines for every
situation in which equality developed
©) Statutory mandates
D) Confined to Common Law Court only
62. Section 20 of Indian Trust (Amendment) Act,
2016 is primarily related to :
(A) Discharge of Trustees
(B) Right of Beneficiary
(@) Investment of Surplus Fund of Trust
D) Compulsory Registration of Trust
63. A trustee who committed a breach of trust
and received interest shall be liable to
pay :
(A) Simple interest @ 6% per annum
(B) Interest actually received
(@) Compound interest @ 6% per annum
D) Simple interest @ 12% per annum
64. A person who has ceased to be trustee may
become mortgagee of trust property ?
(A) With the permission of beneficiary
(B) With anyone's permission
(9] With the permission of incumbent
trustee
(D) With the permission of court
65. Which of the following trusts arises by
operation of law ?
(A) Express trust
(B) Constructive trust
(9] Implied trust
D) None of the above
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66. "Charitable trusts are immune from the  66.
validity of general rules regarding trusts."
This statement is :
(A) True
(B) False
©) Partially correct
D) None of the above
67. In which of the following cases did the  67.
Supreme Court laydown the test for public
trust ?
(A) Bombay Municipality case
(B) C.LT. vs. D.D. Deshpandey
(C) Homi Irani vs. Charity Commissioner
D) None of the above
68. The office of a trustee is vacated by : 68.
(A) His death
(B) His discharge from his office
©) Either (A) or (B)
D) None of the above
69. Statutory recognition of the principles of  69.
equity is not found in :
(A) Specific Relief Act, 1877
(B) Indian Contract Act, 1872
©) Sales of Goods Act, 1930
D) Indian Succession Act, 1925
70. An express trust may be : 70.
(A) Executed
(B) Executory
(9] Either (A) or (B)
D) Neither (A) nor (B)
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7. A conveys certain property to four trustees
in trust for B. Three of trustee died. Can B
institute a suit to have three new trustees
appointed in place of deceased trustees ?
(A) Yes
(B) No
©) Depends
D) None of the above
72. In which of the following cases the Supreme
Court held that "Breach of Fiduciary duty of
trust is to be judged in the light of equity" ?
(A) Serva U.P. Gramin Bank vs. Manoj
Kumar Sinha

(B) State of West Bengal vs. C.P.
D.R.

€ Both (A) and (B)

D) None of the above

73. A is a trustee of certain property with the
power to sell the same. Can A employ an
auctioneer to effect the sale ?

(A) Yes

(B) No

(@) Depends

D) None of the above

74. Which of the following is/are the guiding
principles on which a trustee may act ?

(A) Protection and Support to beneficiary
(B) Benefit of the property

(@) Benefit of the trustee

D) Both (A) and (B)

75. Can the court decide under section 34 of Indian
Trust Act as to who is entitled to be a trustee ?
(A) Yes
(B) No
€ Depends
D) None of the above
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76. Where the beneficiary is incompetent to
contract, his consent may, for the purpose of
Section 7 of Indian Trust Act, be given by :
(A) The District Collector
(B) The High Court
(C) A Principal Civil Court of original

jurisdiction
D) None of the above

7. On the death or discharge of one of several

co-frustees :

(A) The trust survives

(B) The trust property passes to others
©) Both (A) and (B)

D) Neither (A) nor (B)

78. Where the trustee wrongfully mingles the
trust property with his own, the beneficiary
is entitled to a charge on the whole fund
for the amount due to him. The statement
is :

(A) True

(B) False

(C) Partially True

D) None of the above

79. A, a trustee for B of Rs. 10,000, wrongfully
invests the Rs. 10,000 in the purchase
of certain land. Is B entitled to that
land ?

(A) Yes

(B) No

(@) Depends

D) None of the above
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80. Which one of the following statement best
describes the nature of equitable remedies?
(A) They are only granted where a
common law remedy would also be
due
(B) They are discretionary in nature and
depends upon the availability and
adequacy of common law remedies
(@) They are awarded as right once
claim prove to be meritorious
D) Provided the claimant has not acted
unconscionably, they will obtain one
81. "Equity follows the law in the law", in the
light of this maxim who has said that -
"Equity follows the law, but not slavishly, nor
always." ?
(A) Henry L. Ulman
(B) Plato
(C) Salmond
D) Snell
82. Law of equity was evolved owing to certain
evils prevalent in common law, such as :
(A) Strict procedural technicalities
(B) Oral evidence were not allowed
©) Non-recognition of trust
D) All of the above
83. Who may be a trustee ?
(A) Every person capable of disposing
of the property
(B) Every person capable of holding
property
€ Any person even if he is a minor
(D) All of the above
84. Where the administration of the trust involves
receipt and custody of money, the number
of trustee should be at least :
(A) 4
(B) 3
(9] 2
D) No minimum number is required
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85. Can a trust if incomplete, be termed as a
trust ?
(A) Yes
(B) No
©) Depends
D) None of the above
86. For creating a trust of a movable property, it
is not necessary that :
(A) There must be a declaration of
intention to create a trust
(B) The purpose of trust must be specified
©) The beneficiary and the trust
property must be specified
D) None of the above
87. Trustees may be appointed except :
(A) Under a power contained in the
instrument of trust
(B) By the consent of beneficiary
(©) By the court
D) Under a statutory power
88. "The beneficiary is entitled to have the
intention of the author of the trust specifically
executed to the extent of the beneficiary's
interest." The statement is :
(A) True
(B)  False
©) Partially true
D) None of the above
89. Who among the following has a right to the
rents and profits of the rent property ?
(A) Trustee
(B) Author of Trust
€ Beneficiary
D) None of the above
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90. Which of the following Section of the Indian
Trust Act mandates that a trustee may not
use or deal with trust property for his own
benefit or for any other purpose
unconnected with trust ?

A) Section 51 B) Section 52
© Section 53 D) Section 54

91. Which of the following Section of Indian Trust
Act deals with indemnity of trustees ?

A) Section 30 B) Section 31
© Section 32 D) Section 33

92. The trust property is immovable property
which has been given to the author of trust
by an unregistered instrument, is the trustee
duty bound to cause the instrument to be
registered ?

(A) Yes

(B) No

©) Depends

D) None of the above

93. Which of the following Section of the Indian
Trust Act deals with wrongful purchase by a
trustee ?

A) Section 62 B) Section 63
© Section 64 D) Section 65

94. Which of the following is not a right of a

beneficiary ?

(A) Right to compel to Act

(B) Right to specific execution

©) Right to follow the trust property
which has gone to third person

D) Right to alienate

95. What are the circumstances when an
appointment of trustee may be made out
by a court ?

(A) When he is insolvent
(B) When a trustee dies
©) For over 6 months he is absent from
India
(D) All of the above
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96. Constructive trusts come into existence
where :

(A) Property is transferred in pursuance
of a contract which is liable to
rescission

(B) It is induced by fraud or mistake

) Both (A) and (B)

D) Either (A) or (B)

97. "Opus ad Opus" means :

(A) Use

(B) Trust

©) An his behalf

D) Law

98. As a general rule what is the liability of a
trustee for breach of trust by co-trustee ?

(A) Fully liable

(B) Partially liable

©) No liability

D) None of the above

99. Nature of Settlor's title in the trust property
is

(A) Absolute

(B) Constructive

(@) Equitable

D) None of the above

100.  Atrust is not extinguished :

(A) when it's purpose is completely
fulfilled

(B) when it's purpose become unlawful

©) when the trust being revocable is
expressly revoked

D) when the trustees have transferred
their interest
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Example :
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4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
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Impt. On opening the question booklet,
first check that all the pages of the question
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